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11.02.21 Fluent in five

1) 582.12 + 14.66 =
2) 2.02 x 9 =
3)

4) 477,898 + ________ = 955,796
5) 32 ­ 18 =
6) 690 ­ 430 =  

1) 2.14 + 4.66 =
2) 2.02 x 4 =
3) 1 3
 4 8

4) 4321 + _____ = 8642
5) 690 ­ 280 =

+ =

WALT find a rule

https://vimeo.com/499979721

https://vimeo.com/499979721
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Today we are going to find a rule. To do this we 
are going to look at function machines that 
involve one step. This means that only one 
function is done to the number.

4 x3

What about this one? 

Let's label this function machine
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Input Output

1) 8

2) 15

3) 19

+ 15

Have ago at these!

What happens is we only have the outputs?

Input Output

1) 8

2) 11

3) 19
­ 17



Thursday maths.notebook

4

February 05, 2021

How can we work out the function?

Input Output

15 45

Is there more than one possibility?
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